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2015 4 A B 5 4 [ g
BH#K
4 | =z 45000, 0, 0), A(1, 0, 0), B(0, 1, 0), C(0, 0, —1)»H 3.

(1) 3&LA, B, CZiB5 VM a® ARz RDRI .
(2) Pl a il BEIIZRD EDIZFERONLERET WAL E, FHa kDM T OEEERDZ I,
(3) AABC D% KDL X\,
(4) A& OABC D% kKD X1,
(1) ag = (~1,1.0), ac=(-1,0,-1)

S FBAL0IEE 0 E P(x, Y, ) EBVE,

A= SAB * TAC (5. TIEEH)

& (-S-t;S/-t)

0P = AptOA=(1-5-T,5,-1T)

X2 {=-8-T, §=5, F=-1

CFEaoifER L, xr§-E=T

/

(20 (ndY, or=(1-5=-1,8,-t) L RT3

— - -
(-ﬁ'_Lo( &), E-T-J.KE 72 (-)_'F_LA_E 4T, 0T-AB = 0T "AC =0

5?.;5:-“51-1;4-5:0 © 25+t=] 0@
E?-IE;'—'-HSﬂ-t*rt:a . S+2t=1 @
0.0, s=t=% ~T(§.%.-3)
(3) |RB|=4Z, |AC]= 42, cos4BACS l"—_,il'f;fﬂ: —é— .~ LBAC =60
AABC = +IRBIIAC] sin 607 = —}ﬁﬁg =_r—23_—__”
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